
Physical Comments at the answer of Dr Pittaluga:
Our conception of the varicose disease is based on an axiom : the flow is the key point and not the pressure. The law of homeostasis entails that an increment of the diameter is necessary to decrease the pressure in a segment of a network in which the flow gets stronger. 
This homeostasis relates the Physical law according to Volume/Pressure ratio :  
Pressure = Volume /Compliance = (Calibre.Length)/compliance . (Compliance law C : C = 1/Elastance ( Elastance is the quality of recoiling on removal of pressure without disruption, or an expression of the measure of the ability to do so in terms of unit of volume change per unit of pressure change; it is the reciprocal of compliance). So Pressure = Calibre/Compliance
In other words, the pressure inside a balloon increases with the pressure of inflation and  decreases with its compliance. So the more the venous bed is compliant, the less the pressure. This is the  basis for the Passive Reservoir effect ( to witch we must add the modulation of the compliance by active contraction-relaxation of the media that can for example refill the arterial bed in case of haemorrhage). So the flow doesn’t alone interferes, but necessarily the pressure. Pressure is mandatory to fill a volume.  Compliance is mandatory to for pressure reduction. Each of both conditions is necessary but not sufficient.  

A very simple exemple to illustrate this law of homeostasis: an arterio-venous fistula for hemodialysis access is frequently dilated (connection between high and low pressure systems = High pressure gradient that automatically increases the velocity so the  energy = ½ mv² that dilates not only the vein, but the artery too(!) by mechanic dispersion on the wall. Notice that this explains why this artery dilates despite the unchanged pressure), while an arterial venous bypass is usually not dilated (connection between systems with the same pressure = no increase of the pressure gradient, but the high arterial pressure in a vein dilates it because Calibre = Pressure.Compliance ( but not as much as when the energy is higher when gradient pressure is high).
Therefore, when a varicose network is developped (initially by the parietal weakness of the suprafascial veins) between the saphenous vein and a re-entry perforator ( the re-entry perforator is concept born with CHIVA theory and relates to the closed shunts : during the diastole of the valvulo-muscular pump of the calf, the deep venous pressure inside the calf is lower than in the common femoral vein. So the gradient of pressure would make the femoral blood flow back into the distal calf veins, through either the deep or the superficial network. When the superficial network is incompetent, a specific closed shunt ( I, III, etc…)  is activated during the diastole (not inactivated during the systole), according to the location of the proximal escape point ( SFJ, Pelvic escape point etc..) , to the incompetent refluxing veins ( saphenous trunk and or tributaries ) and to the location and number of re-entry perforators. So, in this part of the venous system works in closed circuit during the diastole (when walking) with an increase energy given not only by the lake of hydrostatic pressure fractionation but most by the action of the valvulo-muscular pump ( the more you walk, the more the varicose diameter increases in case of closed shunts). it creates a connection between two systems with two different pressures at the end of the muscular systole  the deep venous system in wich the pressure is low: ( No, the low pressure into deep veins that aspirates the superficial venous blood begins with the diastolic phase of valvulo-muscular pump)
- The superficial one in which the pressure is high, just before its drainage in the deep veins (this is in contradiction with the reservoir effect that is supposed to reduce the pressure thanks to the increase of volume.calibre).
This connection can create a reflux on a segment of a non pathological saphenous vein between two valves. That is the explanation of the « aspirating effect » of the varicose reservoir on the saphenous vein. (See figure on the enclosed word document)( see closed shunt above).
Then, this reflux will increase the flow in the saphenous segment and consequently the diameter of the saphenous will increase, following the law of homeostasis cited above. ( see Pressure-olume ration above) This dilatation leads to the decoaptation of the saphenous valves, inaugurating the vicious circle between the parietal disease and the valvular insufficiency.(in absence of closed shunt and escape point, the “physiological” reverse flow ( more precise than reflux in this case) between two competent valves into a perforator ( in this case not re-entry perforator, but simple entry) is not strong enough to dilate le vein and subsequently decoapte the valves.  

The decrease of the saphenous diameter or the abolition of the saphenous reflux after phlebectomy : This is a strong argument demonstrated by CHIVA II procedure since 19 years ( CHIVA cure Editions de l’Armançon Precy_sous-Thil France 1990) and pleads for closed shunts and hydrostatic pressure fractionation theory.

8. Vidal-Michel JP, Bourrel Y, Emsallem J, Bonerandi JJ. Respect chirurgical des crosses saphènes internes modérement incontinentes par « effet siphon » chez les patients variqueux. Phlébologie 1993;1:143-147: The Effet Siphon as effective in veins is not possible ( refer to books of basic fluid mechanics and explaination in Chivalab)

In summary, venous wall disease is not sufficient even if necessary to trig the varicose process. Valve incompetence is non only necessary but sufficient, whatever its cause, parietal weakness, excessive pressure, either both or post thrombotic destruction.
